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Ex 14P:

1.

nverre . siniverre = nair . siniair

siniverre = 0,331 donc iverre = 19,3°

siniverre =
nair . siniair

nverre

siniverre =
1xsin30°

1,51

iverre

2.

i'verre

i'verre = iverre = 19,3° (angles alterne/interne)

3. nair . sini’air = nverre. sini'verre

sini'air = 0,5 donc i’air = 30°

sini'air =
nverre. sini'verre

nair

sini’air =
1,51xsin19,3°

1

i’air

4.
i = i’air donc les directions 

sont les mêmes.

5.

cosiverre = ––––
AB

AC

AC . cosiverre= AB

AC = 5,3 mm

iverre

i’air

A

B

C
AC  = –––––––

AB

cosiverre

AC  = –––––––
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cos19,3
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